 Blue part is out of 29
« Green part is out of 71
—> Total of 100 points possible



[’Hopital’s Rule

. Inx 0
EX. lim— = 5
x—>1x—1

We can use a table of values, but
there’s an easier way.



Thm. L’Hopital’s Rule

Consider lim —= f(x)

If f(x) > 0and g(x) > 0asx - a,
x—a g(x)
then

jim L — i L&)
xoag(x) x-ag (x)

. 0
—> Do not write “= =

->You must evaluate top and bottom limits individually

> Also works when the limit is of the form 2



{
Qlimln—x—f: )Z;,—",‘("=f

x—1x—-1 <=
.
Z‘; ,a\ﬁso
X-)\

o (x-1)*0
-\ :
__—THis is not the quotient rule!

 Always plug in the number first to
be sure that LHR applies.










EX. lim
x—5 x+4

. e
Ex. lim— =

2x—3

|

1



L9

d1bad sagaiac Fitbamath,

B6sfeHpR e
Beiasiwheyaadr ek denh am smart,

Bhstp nbeibaascheaifigdPe, little bit of trouble when I’m taking a
laraye fedicdundnttnedtaptre them,
RAidopkabw that we’re making this strange,
EReseURBR AdiitRtivRptE I AFbPIBRNUmerator and the
B ek BloThaMAE cn AR Bafihe
N@iﬂjﬁﬁaﬂ W@\ﬁﬂn have to go repeat one more time.
RGOS I RBRE bimn iitf that s eon filsirdark, some kind of
mde!mmﬂiaalregfﬁunctlon may be leaving its mark!
L’Hopital:
Bwel yheawhanddhgrdbeet’a Wibldk bit terrified but then | think of all
your advice.
BlH dpdetl of the time, well it does,
Eari ihlaoshe fian ¢dreeAntosoad\Waogkiss de
L’Hopital:
Guillaume Francois Antoine Marquis de L’HOp!




sin x

Pract. lim
x—>0 X

Pract. lim Inx

X— 00 X2

eX—1—x

Pract. lim —;
x—0 X

3

Pract. lim
— x—>0Cosx
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